t12_ring_1
(TMF2CC9dQgfoWuEMGrebwzbJvUDg9tH45¢7)

October 27, 2020

Let v2_struct.0 : t=>0 be given. Let vl3_algstr-0 : (=0 be given. Let
v3_group_1 : 1=0 be given. Let vd_vectsp_1 : t=0 be given. Let vb_vectsp_1 :
t=>0 be given. Let v2_rlvect_1 : 1=0 be given. Let v3_rlvect_1 : t=-0 be given.
Let v4d_rlvect_1 : t=-0 be given. Let l6_algstr_0 : t=-0 be given. Let v1_zboole_0 :
t=0 be given. Let vl_ideal_ 1 : 1=1=-0 be given. Let v2_ideal_ 1 : 1=1=0
be given. Let v3_ideal_-1 : 1=1=0 be given. Let ml_subset_1 : t=>1=-0 be
given. Let kl_zfmisc_1 : 1= be given. Let ul_struct0 : 1= be given. Let
kb6_eqrel_ 1 : 1=1=1=1=1 be given. Let kl_ring_1 : t=1=t be given. Let
k2_ring_1 : t==>1= be given. Let v3_relat_2 : t==>0 be given. Let v8_relat_2 : t=-0
be given. Let vl_partfunl : t=>t=>0 be given. Let k2_zfmisc_1 : t=>1=>1 be
given. Let k8_eqgrel_1 : t=-1=1 be given. Let k7_eqrel_1 : :=>1=>1 be given. Let
v36_algstr_0 : t=0 be given. Let kb_struct_0 : .= be given. Let k4_struct0 :
1=t be given. Let k5_binop_1 : t1=1=1=1= be given. Let ul_algstr 0 : 1=t
be given. Let k3_rlvect_1 : t=1=>1=>¢ be given. Let u2_algstr_0 : 1= be given.
Let k6_algstr_ 0 : t=1=1=1 be given. Assume the following.

VX0.¥X1.(ml_subset_1 X0 X1)=((vl-xboole-0 X1)V (1)
(X0 € X1))

Assume the following.
VX0.VX1.(X0 € X1)=(ml_subset.1 X0 X1) (2)

Assume the following.

VX0VX1.((v3relat.2 X1)A((v8_relat 2 X1)A((vl_partfunl
X1 X0)A(ml_subset_ 1 X1 (kl_zfmisc_1 (k2_zfmisc.1 X0 X0))))))= (3)
(k8_eqrel-1 X0 X1 = k7 _eqrel_-1 X0 X1)



Assume the following.

VX0.VX1.(((—v2_struct_ 0 X0)A((v13_algstr 0 X0)A
((v3_group-1 X0)A((vd-vectsp-1 X0)A((v5vectsp-1 X0)A((v2-rlvect_1
X0)A((v3rlvect-1 X0)A((vd-rlvect-1 X0)A(l6-algstr_0 X0)))))))))A
((mvl_zboole 0 X1)A((vliideal-1 X1 X0)A((v2-ideal-1 X1 XO0)A(
(v3_ideal 1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc_1 (ul_struct0
X0))))))))=((—vlxboole0 (klring-1 X0 X1))A((v1l_partfunl
(kloring-1 X0 X1) (ul_struct.0 X0))A((v3_relat2 (k1ring-1 X0
X1))A(v8relat2 (klring-1 X0 X1)))))
(1)

Assume the following.

VX0.VX1.((v3relat-2 X1)A((v8_relat2 X1)A((vl_partfunl
X1 X0)A(ml_subset-1 X1 (kl_zfmisc1 (k2_zfmisc.1 X0 X0))))))= (5)
(m1_subset_1 (k7_eqrel 1 X0 X1) (kl_zfmisc_1 (kl_zfmisc.1 X0))

Assume the following.

VX0.VX1VX2VX3.(ml_subset_1 X2 (
k1l zfmiscl (k2_zfmisc.1 X0 X1)))=(ml_subset_1 (k6_egrel.1 X0  (6)
X1 X2 X3) (kl_zfmisc1 X1))

Assume the following.

VX0.VX1.(((—v2-struct-0 X0)A((v13_algstr_0 X0)A
((v3_group-1 X0)A((vd-vectsp-1 X0)A((v5_vectsp-1 X0)A((v2-rlvect_1
X0)A((v3_rlvect-1 X0)A((vd-rlvect-1 X0)A(I6-algstr 0 X0)))))))))A
((—v1_zboole 0 X1)A((vliideal 1 X1 X0)A((v2-ideal-1 X1 XO0)A(
(v3_ideal 1 X1 X0)A(ml_subset 1 X1 (k1_zfmisc_1 (ul_struct 0
X0))))))))=((v36_algstr 0 (k2_ring-1 X0 X1))A(I6_algstr_0 (
k2_ring_1 X0 X1)))

Assume the following.

VX0.VX1.(((—v2_struct-0 X0)A((v13_algstr_0 X0)A
((v3_group_1 X0)A((vdvectsp_1 XO)A((v5vectsp-1l XO)A((v2rlvect_1
X0)A((v3_rlvect_1 X0)A((vd_rlvect-1 X0)A(l6-algstr 0 X0)))))))))A
((mvl_zboole 0 X1)A((vliideal-1 X1 X0)A((v2-ideal-1 X1 XO0)A(
(v3ideal 1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc_1 (ul_struct0
X0))))))))=(ml_subset1 (kloring-1 X0 X1) (kl_zfmisc_1 (k2_zfmisc_1
(ul_struct 0 X0) (ul_struct_0 X0))))
(8)



Assume the following.

VXO0.((—v2_struct 0 X0)A((v13_algstr 0 X0)A((v3_group_1
X0)A((vdvectsp-1 X0)A((v5vectsp-l X0)A((v2_rlvect-1 X0)A
((v3_rlvect-1 X0)A((vd-rivect-l X0)A(16-algstr_0 X0)))))))))=

(VX1.((—vl_zboole 0 X1)A((vl-ideal-1 X1 X0)A((v2-ideal-1

X1 X0)A((v3-ideal-1 X1 X0)A(m1_subset-1 X1 (kl_zfmisc-1 (ul_struct-0
X0)))))))=(VX2.((v36_algstr_0 X2)A(I6_algstr 0 X2))=
(X2 =k2ring-1 X0 X1)e((ul_struct.0 X2 = k8_eqrel 1 (ul_struct_0
X0) (kloring-1 X0 X1))A((kb_struct.0 X2 = k6_eqrel_1 (ul_struct_0
X0) (ul_struct 0 X0) (klring-1 X0 X1) (k5_struct_0 X0))A((k4-struct_0
X2 = kb_egrel_1 (ul_struct.0 X0) (ul_struct-0 X0) (kl_-ring-1 X0
X1) (kd_struct0 X0))A((VX3.(ml_subset_.1 X3 (ul_struct0
X2))=(VX4.(ml_subset_1 X4 (ul_struct.0 X2))=(3X5.
(ml_subset_ 1 X5 (ul_struct 0 X0))A(3X6.(m1_subset-1 X6
(ul_struct 0 X0))A((X3 = kb_egrel_1 (ul_struct-0 X0) (ul_struct0
X0) (klring-1 X0 X1) X5)A((X4 = k6_eqrel_1 (ul_struct-0 X0) (ul_struct_0
X0) (klring-1 X0 X1) X6)A(k5binop-1 (ul_struct-0 X2) (ul_algstr_0
X2) X3 X4 = k6_eqrel_1 (ul_struct 0 X0) (ul_struct_0 X0) (k1.ring_1
X0 X1) (k3_rlvect-1 X0 X5 X6)))))))A(VX3.(ml_subset_1
X3 (ul_struct 0 X2))=(VX4.(ml_subset_1 X4 (ul_struct-0
X2))=(3X5.(ml_subset_1 X5 (ul_struct-0 X0))A(3X6.
(ml_subset_.1 X6 (ul_struct 0 X0))A((X3 = k6_egrel_1 (ul_struct0
X0) (ul_struct 0 X0) (kl-ring-1 X0 X1) X5)A((X4 = kb6_egrel_1 (ul_struct_0
X0) (ul_struct0 X0) (klring-1 X0 X1) X6)A(kb-binop_1 (ul_struct_0
X2) (u2-algstr 0 X2) X3 X4 = k6_eqrel_1 (ul_struct-0 X0) (ul_struct-0
X0) (kl-ring-1 X0 X1) (k6-algstr-0 X0 X5 X6))))))))))))))
(9)
Assume the following.

VX0.VX1.((v3relat-2 X1)A((v8_relat2 X1)A((vl_part funl
X1 X0)A(ml_subset 1 X1 (k1 zfmisc1 (k2_zfmisc_.1 X0 X0))))))=
(VX2.(ml_subset-1 X2 (kl_zfmisc1 (kl_zfmisc_1 X0)))=
(X2 =kT_egrel-l X0 X1)<(VX3.(ml_subset-1 X3 (kl_zfmisc-1
X0))=((X3 € X2)(3X4.(X4 € X0)A(X3 = k6_egrel_1 X0 X0 X1 X4))))))

Assume the following.

VX0.(vl-zboole 0 X0)=(VX1.(ml_subset.1 X1 (kl_zfmisc-1
X0))=(v1_xboole-0 X1))



Theorem 1

VX0.((—v2_struct_0 X0)A((v13_algstr 0 X0)A((v3_group_1
X0)A((vdvectsp-1 X0)A((v5_vectsp-l XO0)A((v2rlvect-1 X0)A
((v3_rlvect_1 X0)A((vd_rlvect-1 X0)A(I6_algstr-0 X0)))))))))=

(VX1.((—vl_zboole 0 X1)A((vlideal 1 X1 X0)A((v2-ideal-1
X1 X0)A((v3-ideal-1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc.1 (ul_struct_0
X0))))))=(VX2.(ml_subset 1 X2 (ul_struct 0 X0))=(ml_subset_1
(k6_egrel 1 (ul_struct_0 X0) (ul_struct 0 X0) (klring-1 X0 X1)
X2) (ul_struct-0 (k2_ring-1 X0 X1)))))



